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Let < be o Feﬁexive,+ronsi}3ve relo.‘l";or\;

Let ? ond 5 be such -H':o“)'
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Because 3 5 c\egned bj x),b = :jsx , 18 also
re{’\ex;ue. ond -‘rromsihve, +he mono{-on]cib o? 3

—G:_ﬂows bj this sbmme}tj {)rom Yhe obove.
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T s o nice examP\e o() o shortrest T:r*ooF) yn
the sense +hat each o]p the three s’rﬁps us@s one
ogout‘ dare. A {arn’\er‘ reason ~For‘ recording iF
s dhat  the ?‘aFS}‘ s\-e’o is not a rabhik b?.u“
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tells ws how Yo do so, but onl:j -ﬁ:r an p-o.]:i:lica:\-ion
Yo the \e-@ oP s . So i+ s the F) in {).v ,

whose removal ]oresenH Yhe Fro\o\em.

Since we have 1o use ”Hﬂc-“‘ﬂ-”’)e P in -E.v
s the -Puncl—‘\On ? that SOA‘IS‘\/EES (0) , we have
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Since we heave to wse properkies oF) s as well,
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Because < is rer lexive

?.v < Cv

equiva\es lrue . How do we introduce this
r‘epresen-}ahon o? —}Tue wi'}h out weolcen‘mé?
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Pr‘ess'\on ,  we can Pr‘eﬁx i+ b‘j Yrue =
“Yrue A7, or “Arue =7

“aab” and “aab\o”, Yhe lost one is the

weakest one, we )ore?ix our cemonstrandum
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